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$$ C_k=\sum_{i+j=kNfrac{k!} {i!(k-)!}A_iB_j $$
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$$ In(1-A(x))=-\sum_{i \ge 1}\frac{A(x)~i}{i} \\ exp(A(x))=\sum_{i\ge O}\frac{A(x)"i}{i!} $$
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$$g(n)=\sum_{i=1}"n(_{i-1} "~ {n-1})f(i)g(n-i)$$

000000000000000000o0
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$$27{(_27n)}=\sum_{i=1}"n(_{i-1} " {n-1 (D)2~ {(_{2} " {n-i})} $$

$$\frac{2~{(_2"n)} }{(n-1)!}=\sum_{i=1}"n\frac{f(i)} {(i-1)!'\frac{2~ {(_{2} ~ {n-i})} } {(n-)!}$$
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$$F(x)=\sum_{n=1}~{+\infty \frac{f(n) } {(n-1)!}x~n$$
$$G(x)=\sum_{n=0}"{+H\infty}\frac{27~{(_27n)} }{n!}x"n3$$
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$$F=H*G"~ {-1\quad(mod\;x~{n+1})%$$
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$$F=\frac{I\pm\sqrt{1-4G}}{2G}$$
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$$0 0O O \quad \lim_{x \to 0}F(x)=\infty \quad (O O )$$
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$$F=\frac{1-\sqrt{1-4G}}{2G}$$

$$F=\frac{2} {1+\sqrt{1-4G}}$$
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$$G(x)=\sum_{i=0}"\infty F(x)"i$$
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$$=\frac{1}{1-F(x)}=\frac{1-x-x "2} {1-2x-x"2}$$

O 0 $\frac{1}{1-2x-x"2}$0 000 0O
$$a_n=2a_{n-1}+a_{n-2}$$

good

$$ans=a n-a_{n-1}-a_{n-2}=a {n-1}$$

gobogoooo

$$x_1=-\sqrt{2}+1,\;x 2=\sqrt{2}+1%$$

gooogo
$$a_n=c_1(-\sqrt{2}+1)"n+c_2(\sqrt{2}+1)"n$$

00 %$n=0,n=1$]0 O

$$c_1=\frac{\sqrt{2}-1}{2\sqrt{2}} \;c_2=\frac{\sqrt{2}+1}{2\sqrt{2}}$$
$\sqrt{2}$0 0 $1079+7$0 0 0 0 0 0 $(59713600)$0 OO0 0 O 0 O

$$a_n\equiv485071604x940286408"~n+514928404x59713601"n\;(mod10"°9+7)$$
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